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PART. A
" CENERIC ArEA
f m“" Most appropriate option:
(QNo. 1 (0 42)

o o anestion b 1 and 2%

il the . Is
e & below and answer questior
 Five of Ingyyy
T eading models are posing
--h"'l’h"mgl'&ph Promoting “Waorld Peace and
Un " But then, Sachin Malhotrs the
POOCETapher is having a tough time gefting
them 1o stand in 5 Straight line, because Natasha
1SS 1 Stand next e Jessic st Jessica had
said something about her in a leading gossip
magazine. Rachel ang Anna want to stand
g use they are good friends. Ria on
other hand canng get along well with
el, beca

Ditections for question yymber 3 10 7 ¢

Stiudy the follonwing g s P
e questions given m.“;if;ff?ﬁfm" iad
"ganding population of Statey iy the year 2018)

’-__—_“E..T?..r—————

Total population Ofthe given Siates = 3276000,

el is some talk about Rachel Sex and Literacy wiee Population Ratio
MNg to get a contract already awarded to | [States| soy Literacy
a believes her friendly astrologer who M|F Educated | Non-Educated
2 I‘nstanda.tlheexﬁemgdghlfur A | 5]3 F3 7
0 phs. Finally, Sachin managed B |31 1 4
girls and got a beautiful picture of C 23 2 1
.Er?vmnhﬂymasm@! D |33 3 3
% E 3| a 4 1
- F{a]|= 7 2
Stands at the extreme left, who G |ali 9 3
d from left ?
ay
3. Ifin the year 2018, pPopulation of F is
increased by 10% and population of B is
increased by 12% as compared to the
B etis b 20 stun Previous year, then is the ratio
e er to stan f populations of F and B in 2017.
Natasha decides to s
‘then who is the (A) 42:55
eme right ?
(B) 62:55 @
© 42:11 {8 0\/": \
(D) 44:5 1?/;) 2
. ROUGH WORK o
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31‘16 oo
\b A0 0

o

— is the ratio of the num
inG m&enumberoffema]mﬁz

is the total number of
e in A and B in 2018.
—

illustration of the code and

; ’“"‘hﬂiy-m:o .

pearrangement for subsequent ol
The Time b8 9 am. 1o 3 p,
Pulwwd $ =
First Batch =9 g to 10 a.m.
is not ready cloth simple harmony
gecond Batch - 10 am. to 11 a.m.
ready not is cloth burning harmony
Third Batch - 11 a.m. to 12 noon
clath is not ready simple harmony buF
Fourth Batch - 12 noon to 1 p.m.
natis cloth ready burning harmony S
Fifth Batch - 1 p.m. to 2 p.m. M
ready cloth is not simple harmaony bulﬂﬁ
and so on. ) :
If the password for 11 am. to 12 monﬂl'ﬁ
_ “spap shy miss pen yet the she”, vhat -
was the password for the First Batch 7

(A) pen miss shy soap she the yet
(B) shy miss pen soap yet the she
(C) soap pen miss shy she the yet
(D) miss shy soap pen she the yet

There are 6 boxes numbered 1, 2,
Each box is to be filled up either
red or a green ball in such a v
least 1 box contains a green X
boxes containing green
consecutively numbered. The ¢
of ways in which this can be d

(A) 18

(B) 19

© 20 L

) 21 ;

(D) t\? ) 1_"3?'.‘)'9
DRK L



16.

(A) MyEASURN,T,

: balance amount

A) 25 : LS
EB)) 20 Ro & =
(€ 18

(D) &

Nﬂmbernfletterrepeamdmﬂ\egiva\
word ‘MEASUREMENTS' are indicated
in front of each alternative. Identify the
correct alternative.




20, |§Wf" the figare vy,

‘out th
s E.:it:nmti\re figure whi
figure a5 its part. a

21.  Auniversity library budget committee st
reduce exactly five of eight areas of
G e (8 expenditure - 1], K. L, M, N, O and

accordance with the following cof
If both 1 and O are reduced, P
\< reduced.

If L is reduced, neither N nor Ois re
1f M is reduced, ] is not reduced.
()f&nemreemas],l(mdb{encﬂjr wo
are reduced. )
Ifboﬁledemd.uﬁdtoue'af-ﬁ‘
Jollowing i a pair of areas neither of which o

be reduced ?
LL

) JL

© LM

(D) LI




This tulip is grown in bunches, like
a lotus,

28 Choose the missing terms out of the given
~ alternatives,

BO,TYD.INS XCH, 2 48 O
. ; 1 E i Conclusign,
? NRW o b 1 & ] 1?‘“’1’
- MRW E,"_'/ﬁ M =
(€ MSX d‘d%\’; QTUHU
(D) NSX o &'\ F i

Nopek et

se which of the following will be

Only I follows

cient to find ;: What time did the bus

ﬂ Only 11 fallows

(€) Only M fallows
(D) Both [ and 11 follows

26. Fl‘ndtheoddmwuutmﬂnegimmu:

ZA, RS, DE, JK, PR, LM, YZ NO
(A) JK

o>
M ra_f%{;'
59 ZA
PR
H WORK 49 @
- o A A\ - (R




. in a group of 24 members, each
dxinb-ﬂummmcuuumwulsq,
them drink tea and 18 drink coffee, find s
the probability that a person selected from ¢
ﬂ\egrmpdr'u‘uhbulh tea and coffee.

(A) 1/8

€
S
L 5

© 5/

e
(D) None of the options
o
T
us &
Arjunhycar\akﬂsdaubhtlwm
bus to travel from Delhi to Agra. :
hmeSPeethBmiiﬁ\eSpe«id :

is 40 km/hr 2 ’
ﬁ’w km/hr
(B 60 km/hr '
80 km/ hr
(D) 30 km/hr
it ROUGH WORI




37.

ben.,;'t;;’ " qu,
i nd two sta
::::“ ¥ "&\'gn;; :‘“M d‘h
i :::: o flici d.l.
ufficieny
“*nu'h"m'“m i -..
e ang "‘"'!w:, :ﬂ:nwlpdg., i
i i
is R Telagey W5 gp' y -
e . @
Al
hnvl*a.m “H‘n S only hmcmm
s'lhl'llq“ 2 6 "",.-\S
Sis .
STy brother. e ol
(4) Only

[
a'r““‘?m'ngm z]_i:nm.runvd for
gﬁﬂod\&a
foam““u‘! %mw

D) Ansyer

thl'g'l\;en mfmh::ﬂum
What is the Standar, i
thefuu.rnnmbens ABCp> %
Statement (1) .
'l'hesw.LmuHLB CandD s 24,
Statement (2):

mm“fﬁ“wd.&a,cmnﬁ
=
O“‘b'smmmﬁm.[uimdfm
answering the question
(B) Only Statement (2) is required for
question

i.m‘wermsﬂx

(C) M%Mbgmmm;m
to answer the question

Alwammbemmm
{D} the given information




woun doss mob meve in the ay

“atane of the Earth,
o (a) ™ ) plane v 0 .
SN SERURSS
p \ Il
Nmmlﬂm (©) m " @ b
I8 Talgy o W

Dipections = Question number 41 and 42 art

baged on the diagram given below

5 I o clvss there are 40 students who play at Teant

~ 1% Provided peay LR one game out of Football, Cricket and
. oo, B.¢,Enmn.

a1, :
- Fm

on (A) : (A) 50%

added to cook food at higher ﬁ 60

|

(€} 65% p..

ason (R) D) 70% é
perature is lower at higher altitudes. | 43 What percentage of students play all the:
three games 7 byut™ =
(A) 4% : -
(B) 5%
C) B%
ﬁ 10%

DRK




PART-B
TECHNICAL AREA

ﬂmlﬁtm.w
{Q.No, 43 1o 120)

adol cay

L Which of the follswing maching it ety

b usedd i a necessary and sulficen Bliter
for lexical analysis in modern €

:f, e

) Deterministic Push down Automaty
r" Finite Automata
- T{€)  Non-Detorministic Finite Automaty
{D) Turing Machine

48,

developeg
. 58000 LOC gaming software i$
with effort of 3 person-year. What is the

uctivity of person-month 7
&

1.9 KLOC

1.6 KLOC
(C) 4.8 KLOC g“,
(D) 4.2 KLOC 19,

- An instance of relational schema R(A, B, €)
has distinct values of A including NULL
values, Mﬁd}mnfmefoﬂnmishue?

A)  Ads a candidate key

A is mot a candidate key

Ads a primary key
: “A is a candidate key” and “A
E 4 key"

location of a record is

50.
-mathematical formula

(Dl Al e s tram
Which of
the
"\l'gm" ® [0l Pape Replacement
““""“’yh? Saliery 1 ot ehe Bielady's
(ﬁlj LRy
(B] Dpuma]
Page Replacement

FIFQ Replac

()

Both LRY 44 FIFo

Bi“ﬂry search
e cantains the values
®2345¢, B, oy o 2ins |
e 1 e gy s SR K1
W]'Lid'l of the fol lowin

Output 7 ESequences is a valid
(A) 53124784
(B) 53126447 v
(€) 53241674
(D 24768
Most NeSQL databases support mﬁc
meaning that you get hi@l’l
availability and disaster recovery,
(A) Processing
(B) Scalability

m.




Content-Type: text/ event-stream

Content-Type: text/ application—
stream

Content-Type: text/ dats-stream

Nane of the options

is automatically

Add-ons
Plug-ins
Utilities
Widgets
[ot]
58. ma_nmvéhmﬂer.memﬁﬁ:dmaadﬁ

tothe_ el inSe iyt
header. -

(A) TOS field @Q"

v/




(B) Reusability in
@) Evolutionary© : 1

Component-7[(c) Explicit
& based software | recognition of

risk
o < |{d) Inflexible
Ppartitioning of
the project into
stages
), @+b) (B-), (BH)
() @Ha), BH0), (4-0)
CHb), (B)4a), (4)-(0)
a), (3-0), (4)-()

" d'

63,

To iy ey
Cangn, the ::

tan g ,, in all
Pt § eFTOR®
a N““.ﬁ "Mmm“mh:h“m distance in
(4) 5 ——
m
© 1

D) 8 g

xﬁ“ﬁ? 1 e 1, i et
o T <o
(A} section

(B)  clags

€ artice

(D) none of e Options

On Computers wherg {here are multiple
OPerating system, the decision bo load a
Particular ane is dope by
(A) PCB

(B) Inode

(C) File Control Block
(D) Boot Loader )




W,
e st o e com o

By

Omatic o
ph G is “'(szl;“w b 4y
+1, where p g ® 50

number o
" { predi
d in P! Eﬁlcate Nodes tC) 250
Braph G, ) 100
pe of linked I
ader node hh:;:wmthe:dd]m 70, Which open addressing, technique is free
? et field of the {rom Clustering problems ? 4
(B} Linear pmh\-_ng
linked list (§) Quadratic probing \
(C) Double hashing ‘1
(D) Rehashing o v
7. is a parttioning of single
physical server {nto multiple togical

servers.
b sl Virtualization
sorting algorithm sorts P moving (B Private cloud
Jnt data element past the already < Hybrldauud
in (D) Public doud

values and repeatedly terchanges
i umpmdinawlueunmumnm
e 72. The relation TE=TTR/TD
Thas the solution & =

‘y_n O(mn) \
® Ollogn) W0y
(© Ofnlogl) no
_® o) .

ule # "



span
= (Low + High)/» The program
Works well if he :hughlba of elements ;
the list is sma); (about 32,000) but it
beha !

c""".lllb
P ¥l that soly,,
iy sl S
Loy n-
e 0 e o gl
I b g o7 e gt
A) oy
© e J~
< f otﬂ.l'llxn,
(D) Saas | !ﬁr Ofn3) A
a2chanficly o |
tom uses is * Lat
S T R -
: el i 3 i (0, 1y
umuﬁc.;!i;m f::’{i 2 kﬂ,.:.l;:::fu: Yex¥ oo
m 5 bit. Find the serial i

| feang g, and Var(Y) =
-n_mqu {Y) = q

Tderuy it (a, by b
Q) (50,109, P la
(A) 1280 kHz (B)  (sq, 50
(B) 160 kHz © (25, 50)
(©) 320 kHz (D) (25, 100)
(D) &40 kHz 79, te the if
Moyl the
is useg 12y Lating ﬁmlu:l;n\'} e g
ich of the following tag is use : '
W‘L"fm n:v-lgaﬁm in HTMLS ? (A) 59
(B) &7
C) 159
(D) 33
80. The Program writton for binary search,
calculates the Midpoint of the s
mid ; =

as
in

(©) mid := (High — Low )/2
D) mid := (High + Low)/2




Tdentify thee odd oy,
b wut.
(&) AMAZon Web o, 9, g BLAPEy e conatent in e 1

Microsoft
Arure M D= Y hf/‘

Googhe clony Fla
®) Nﬂﬁ‘ﬁalfnmm; ! i
Considering binary relationshi o
cardinality ratios are - il " | a8, e Prootder travernal of a tiee given
(A) one ;one pelow 18
B 1:N v — \.,’e‘
() M:N [ © L

(D) All the aptions At

;ml:f“’ requirement for operations on
(A) om 3

(B} Ofn)

(C)  Oflogn)

@) oM

In the congestion avoidance X
size of the. congestion windcoy s ABDFECGIHIKL
until congestion is detecte ABCDEGHFIJKL aD!
) Exponentially epacted. ABEDFCGHIJKL &
(B) Additively , (o) ABDFECGI JHKL
(€) Multiplicatively
(D) Suddenly 89, What is the basis of KVL?
7 (A) Conservation of charge
bi ! (B) Conservation of energy
e ret k"dpmm EE;F}:?;?:;E allowed in (C) Conservation, of power
(A) 10 Lo (D)  All of the options
o 12 90. Limitations of the XML Data Type are ©
16 (A) It cannot be compared or sorted,
mone of the options This means an XML data type
cannot be used in a GROUP BY
of the following techniques deals SMtewoRe. ;
rting the data stored in the (B I cannot be used a8  key columanin
s memory ? an index.
e C (&) The value() method of the XML data
: ol returns a scalar value, so it can




B
. n
Whigy, of
Ca My |
B e ey m,-g‘m"
(Ay 'y
© Anwiends i
(©) p ey Shit Keyin
Diak gy Keying
N Gy Straight two-way oy sort

wlementy

2.y

! 8905 20 47 ¢ 12, 17,3040

$.15. 20, 47, 4 o, 20,40, 1217

il v ] 15‘2\]_4:'"_3‘9‘ 12, a0, 40,17
©) 489 5 20, 47, 12, 17, 30, 40

93, Eonsidu the basic COCOMO mode]

“ere E is the effort applied in Person-
months, D s ha dm';fpmem Hme in
chronolagical manths, KLOC 15 the
SStmated number of delivered lines of code
{in thousands) ang ay, by, o dy, have their
usual meanings The hasic COCOMO
SqUations are of the form.

\Exp(d,)

D = a,(KLOG) exp(h,), E = ‘thM@ Consider a software

95, Connlder & sofiw e PF

follawin In
tmak‘ L ‘

Nnmdﬂmlwﬁn-. “:B
Numdmlm“-
Number of files (F) = o o
Number of external inisefsces (N =

It In given that the complexity’
fmﬁlwl.&ﬁ.l‘mﬂ""&:l::

and 7, respectively. Ii is ”‘ factors
out of fourteen value : ’m' , four
that influence the development  of the
factors are not applicable, o each
other four factors have value 3, 8nd The
of the remaining factors hne"""“m
computed valtie of function point

(A) 612.06 % @

(B) 21205
(€) 305.094
(D) 8069

rogram that is
artificially seeded with 100 faalts. While
testing this program, 159 faults are
detected, out of which 75 faults are from
those Y seeded faults.
thntbo&rea]andseededhubﬂdfm
nature and have same bu the

estimated number of undetected real.
is :

(A) 28
B 175
© 36

*%“‘ﬁ
B
L e
‘M-l\

o




lock o “¥che du of wize 3

: . hil.::lz 32 Bytes. CPU zn:i:
iy tu: Numllﬁr OF bjy
(A) 14 I
(B) 15

410
17
98. Suppose we have to insert the following
Seqnu\:::kny; into an empty binary

5, 7, 45, 60, 50, 23, 15, 54
&:Wﬂdhﬂ\uhﬂghlufbmrymmh
(A) a "r’\,‘

4 %

2 Xus
s @ Ko

$/
99, Anatﬂ'nmh!(!)ﬂlat\la used to look tp for
records in a file is called o . &0 ¥

5

1200. Consider aSimple Checkpointing Protocol
;1; the following set of operations in the

: T‘*)i (write, T4, y, 2, 3); (start, T1);

mit, T4); (write, T1, 2, 5, 7);

ckpoint);

T2); (write, T2, x, 1, 9);

T2); (start, T3); (write, T3, 2, 7, 2);

happens now and the system

over using both undo and redo

al are the contents of the

e redo list ?

07, paint o9t the wrong statomny |

i & ‘Non-Relational databag,

i that sehemas be defined bej,

can dd data.

NoSQL ditalbases are iy o

the insertion of dagy withou
ed schema, #

g NewSQL databases are built to

i

the insertion of data withou
defined schema,

) All of the options.

5

102, fn which of the following hash function: :
" do cansecutive keys map to comsecuth

sh values 7
:;} Division method < 1\5//‘;
(B) Multiplication method &
(C) TFolding method
{D} Mid-scquare method

.}. !

disk queue with requests for 1/O to ﬂ' I

0 Ef.;iu, an gyulindm. The quummm&w B

following manner :

98 183 3122 14124 65 67 )
Comnsidering SSTF (shortest seek time first)

scheduling, the total number r.‘ll‘ h‘ead

movements is, if the disk head is initially

at 534
. 236

(B) 246 L
(C) 220
(D) 240 &
104. What is the advantage of bubble sort over
ather sorting techniques ?
(A) Itis faster
(B) Consumes less memory :
@ Detects whether the input is already
sorted .

(D) All of the options

FOR ROUGH WORK




108 Onie-megubyte montory atrage 0006 ) 10, Guey ety 500 Privag,
I e !

algorithm.
tos
wi ::u:‘“h:-:.:“ (A) Hlestronic muyy

10242 byres (B)  File encryption s i
(€} 10240 bytes (C) Both Pf:‘::‘mﬂlc.wi .
(D) 10244 byten L slardl

(D) None of the options
106: Which table is used in MS POS for linked

antributes that identify wig,
tist allocation ? 111, ﬁtl;{:::h“d to some owner, entity |,
3 (A} TLR i el
'.,ﬂb' ) ::?: y (A) Structural key
~2 ol ing key
it Index Table (B) String
Gy Partial key
107. What is the best case complexity of (D) Foreign key
QuickSart ? \
ef @ Ofwiogn) 112, Given the truth taple of a Binary Operatioy
0 B opogm) o} § as follows :
v 2 X Y [ Xsy
B) O3 : = T
1 1
108. Data leakage threats are done by internal X T IJ
agents, Which of them is not an example 0
| of an internal data leakage threat ? 0 0 1

(A) Data leak from stolen credentials
[

from desk~d® M) Identify the matching Bmleanﬁsprmm
(B) Data leak by partners e (A) X$-Y » 0. D=0)=D

Data leak by 3 P:u‘.;app! (B) —X§Y 0"_9 D

All of the options € -X8=v

01 -b

/ﬁn none of the options
.-z are Boolean variable then ? b

F+22) (T245) is equal to : 113. An expression in the domain relational
calculus is of the form :

(A) [P, oo, x| FaTs,x,3)
(B) [11:I3--»--X,||‘~'~x1,_xj.;.;.;,-.
© Py .ox)y, o .
B f=2,1,... %2> Py,
R ROUGH WORK '




114, The best ru
it u”‘,‘f)‘;‘:ﬂa Hme (x defineg an/
A)  thele
(A) wu:::rmmmumm-
of a paryj
(©

iy
Borithm takes, on in, &
Fular size. F

an inpug gy,
toquires masim,
it of reboirces, |

averaging the different running 1
for all inputs of o pIrHtulunﬁn?u

(D) nane of the options.

5. 1n —— VMs do not simulate the
underlying hardware,

{A)  Para Virtualization

(B)  Full Virtualization

(©)  Hardware-Assisted Virtualization
(D) Network Virtualization

116. Consider a cantro] ynit generating the

control signals. These control signals are
divided into five mutually exclusive
groups as shown below ;

|Groups
trol

=

Gl |Gl |cl[al [l

3 7 | 10|12

2

any bits are saved using the Vertical
O instead of Horizontal
d control unit 7

:mbm-u( bokens in th,
1 THe nHm n the fo)
i ¢ spitemint is

printiChdy =", 4 ey
(M 8

7
\
L7}

The pumber of 4 digit numbers wh
contain nat mare than two different di
s

(A)

® A
© 7
10

%

@3
il j
576
567

513
504

You are working with a network that is
172.16.0.0 and would like to support
600 hosts per subnet. What subnet mask
should you use 7

119,

(A) 255.255.1920 pety
(B) 2552552240 3
&) 252552520 ‘gi :

(D) None of the options

120. P.l in XML specification stands iaﬁ

(A) priceless instruction

[B) pmcesd.ug instruction
(C) polymorphic inhe
(D) primary instruction

: -000- ¢

& o’q

0

: =

FOR BQUGH WORK Bl
]

o

o —



